CLASS-12

JEE - MATHS

RELATING DIFFERENT INVERSE TRIGONOMETRIC FUNCTIONS
Simplifying expression using trigonometric substitution
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sin (sin_1 x)=% —-1<x<1

0 = sin~1x.
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sin 6 = x, by meaning of the symbol

sin (sin‘1 X) =X
Similar proofs can be carried out to obtain

cos (cos™1x) =x, -1<x<1
tan (tan~1x) = x, x € R

cot (cot™1x) =x, xeR

sec (sec_1 X) =X, x<-1,x>1
cosec (cosec 1x) =%, |x|>1

The graph of y = sin (sin‘lx) = cos (cos‘lx)

The graph of y = tan (tan~1x)

= cot (cot™1x)

The graph of y = cosec (cosec™1x) = sec (sec1x)
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sin~1 (sinx) =x;
cos™1 (cosx) =x;
tan~1 (tanx) =x ;
cosec~1 (cosecx) =x;
sec1 (secx) =x;

cot™1 (cotx) =x;
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